program_02

module?2

Sub £%t_matrix()

Dim a As Integer

Dim b As Integer

Dim c As Integer
Sheets("£%t").Select
Range("B5:k14,B19:k28,B64:k73,B78:k87,B123:k132,B137:k146").Select
Selection.ClearContents
Range("A1").Select
a=2

Do Until Sheets("flZdata").Cells(a, 1) = ™"

OO L S DRTE

Do Until Sheets("£%t").Cells(4, b) = Sheets("#1data").Cells(a, 5) Or b > 10

b=b+ 1

SRR VITDRE

Do Until Sheets("&%t").Cells(c, 1) = Sheets("flLdata").Cells(a, 7) Orc > 13
c=c+ 1

Loop

If Sheets("tlTdata").Cells(a, 1) = "8IH#f" Then

Sheets("€#").Cells(c, b) = Sheets("£#").Cells(c, b) _

+ Sheets("#NIdata").Cells(a, 8) L T—ALY
Sheets("£#").Cells(c + 59, b) = Sheets("£%t").Cells(c + 59, b) _



+ Sheets("flLdata").Cells(a, 9) ...5e bELY
Sheets("£#").Cells(c + 118, b) = Sheets("£4t").Cells(c + 118, b) _

+ Sheets("#ldata").Cells(a, 10) ... ABFILY
Else
End If

If Sheets("flTdata").Cells(a, 1) = "4H3" Then

Sheets("£#t").Cells(c + 14, b) = Sheets("£%t").Cells(c + 14, b) _

+ Sheets("#nIdata").Cells(a, 8) Y T—ATY
Sheets("€#").Cells(c + 73, b) = Sheets("£%t").Cells(c + 73, b) _
+ Sheets("#NIdata").Cells(a, 9) o EETY
Sheets("£#").Cells(c + 132, b) = Sheets("£4").Cells(c + 132, b) _
+ Sheets("fNdata").Cells(a, 10) o ABFITY
Else
End If
a=a+ 1
Loop
End Sub
module3

Sub ER_matrix()

Dim a As Integer

Dim b As Integer

Dim c As Integer
Sheets("BER").Select
Range("B5:k14,B19:k28,B64:k73,B78:k87,B123:k132,B137:k146").Select
Selection.ClearContents
Range("AT1").Select
a=2

Do Until Sheets("fldata").Cells(a, 1) = ™"

SO VS DRE



Do Until Sheets("®8R").Cells(4, b) = Sheets("#l1Tdata").Cells(a, 5) Or b > 10

b=b+1

Do Until Sheets("828:1").Cells(c, 1) = Sheets("fldata").Cells(a, 7) Orc > 13
c=c+ 1
Loop
If Sheets("f1Tdata").Cells(a, 1) = "giHE" And Sheets("#ldata").Cells(a, 2) = 1 Then

Sheets("828R").Cells(c, b) = Sheets("52x").Cells(c, b) _

+ Sheets("flLdata").Cells(a, 8) L T—ALY
Sheets("8R").Cells(c + 59, b) = Sheets("&R").Cells(c + 59, b) _

+ Sheets("#ldata").Cells(a, 9) "....5o EELY
Sheets("&R").Cells(c + 118, b) = Sheets("8=8:R").Cells(c + 118, b) _

+ Sheets("#nIdata").Cells(a, 10) e AEFLY
Else
End If

If Sheets("fNIdata").Cells(a, 1) = "HHE" And Sheets("INIdata").Cells(a, 2) = 1 Then

Sheets("82R").Cells(c + 14, b) = Sheets("&R").Cells(c + 14, b) _

+ Sheets("#nIdata").Cells(a, 8) Y TT—ATY
Sheets("88R").Cells(c + 73, b) = Sheets("&XR").Cells(c + 73, b) _

+ Sheets("fNIdata").Cells(a, 9) e EETY
Sheets("8R").Cells(c + 132, b) = Sheets("828R").Cells(c + 132, b) _

+ Sheets("#nIdata").Cells(a, 10) e ARFITY
Else
End If
a=a+ 1

Loop

End Sub



module4

Sub KBR_matrix()

Dim a As Integer

Dim b As Integer

Dim c As Integer
Sheets("ABR").Select
Range("B5:k14,B19:k28,B64:k73,B78:k87,B123:k132,B137:k146").Select
Selection.ClearContents
Range("AT1").Select
a=2

Do Until Sheets("fiZdata").Cells(a, 1) ="

SRRSO L B DIRTE

Do Until Sheets("X[k").Cells(4, b) = Sheets("tl1Tdata").Cells(a, 5) Or b > 10

b=b+1

Do Until Sheets("XBR").Cells(c, 1) = Sheets("li Tdata").Cells(a, 7) Orc > 13
c=c+ 1
Loop
If Sheets("f1Tdata").Cells(a, 1) = "Bifi" And Sheets("flLdata").Cells(a, 2) = 2 Then

Sheets("XBR").Cells(c, b) = Sheets("X[k").Cells(c, b) _

+ Sheets("fNdata").Cells(a, 8) LT —ALY
Sheets("KBR").Cells(c + 59, b) = Sheets("X[k").Cells(c + 59, b) _
+ Sheets("fNIdata").Cells(a, 9) o EELY

Sheets("XBK").Cells(c + 118, b) = Sheets("AFx").Cells(c + 118, b) _



+ Sheets("#NIdata").Cells(a, 10) L HEFILY
Else
End If
If Sheets("f1Tdata").Cells(a, 1) = "H" And Sheets("#lIdata").Cells(a, 2) = 2 Then

Sheets("XBR").Cells(c + 14, b) = Sheets("AX[k").Cells(c + 14, b) _

+ Sheets("fNdata").Cells(a, 8) e T—ATY
Sheets("KBR").Cells(c + 73, b) = Sheets("X[k").Cells(c + 73, b) _
+ Sheets("fNIdata").Cells(a, 9) o EETY
Sheets("ABK").Cells(c + 132, b) = Sheets("X[x").Cells(c + 132, b) _
+ Sheets("#NIdata").Cells(a, 10) e ABFITY
Else
End If
a=a+ 1
Loop
End Sub
moduleb

Sub ZH]_matrix()
Dim a As Integer

Dim b As Integer
Dim c As Integer

Sheets("&H]").Select
Range("B5:k14,B19:k28,B64:k73,B78:k87,B123:k132,B137:k146").Select
Selection.ClearContents

Range("A1").Select

a=2

Do Until Sheets("fiZdata").Cells(a, 1) = ™"

OO VS DRTE



Do Until Sheets("E4%0").Cells(4, b) = Sheets("#lTdata").Cells(a, 5) Or b > 10

b=b+1

Do Until Sheets("Z4%0").Cells(c, 1) = Sheets("fldata").Cells(a, 7) Orc > 13
c=c+ 1
Loop
If Sheets("f1Tdata").Cells(a, 1) = "giHE" And Sheets("#lIdata").Cells(a, 2) = 3 Then

Sheets("&#H1").Cells(c, b) = Sheets("&4%1").Cells(c, b) _

+ Sheets("flLdata").Cells(a, 8) L T—ALY
Sheets("Z#H1").Cells(c + 59, b) = Sheets("E#%1").Cells(c + 59, b) _

+ Sheets("#ldata").Cells(a, 9) "....5o EELY
Sheets("Z#H1").Cells(c + 118, b) = Sheets("E4%1").Cells(c + 118, b) _

+ Sheets("#nIdata").Cells(a, 10) e AEFLY
Else
End If

If Sheets("fnIdata").Cells(a, 1) = "HHE" And Sheets("INIdata").Cells(a, 2) = 3 Then

Sheets("ZH").Cells(c + 14, b) = Sheets("E40").Cells(c + 14, b) _

+ Sheets("#nIdata").Cells(a, 8) Y TT—ATY
Sheets("&#x1").Cells(c + 73, b) = Sheets("E41").Cells(c + 73, b) _

+ Sheets("fNIdata").Cells(a, 9) e EETY
Sheets("ZH").Cells(c + 132, b) = Sheets("&%1").Cells(c + 132, b) _

+ Sheets("#nIdata").Cells(a, 10) e ARFITY
Else
End If
a=a+ 1

Loop

End Sub



module6

Sub main2()

¥REC

area%
cate®
size%

B _matrix
KBR_matrix
Z%0_matrix
2%t _matrix

MsgBox "5 7"

End Sub



